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Subject - Ecnnumics(030)

Examiﬂﬂﬁnn

MM: 80
General Instructions:

1. This paper contains 34 questions.
2. Marks are indicated against each question.

3, Question number 1- 10 and 18-27 are multiple choice questions.

Time: 3 hrs.

4. Question number 11= 12 and 28-29 are short-answer questions carrying 3 marks each.

Answers to them should not normally exceed 60 words each.

S. Question number 13-15 and 30-32 are also short-answer questions carrying 4 marks

each. Answers to them should not normally exceed 70 words each.

5. Question number 16-17 and 33-34 are long answer questions carrying 6 marks each.

Answers to them should not normally exceed 100 words each.

Section A- Macro Economics

% I In an economy the consumption function is C= 500+ 0.75 Y . Determine the | 1

level of income where APC will be one.

f a) 500

b) 1000

c) 2000

d) 1500 :

choose the correct alternatives given below:
Assertion: During inflation Central bank increases reverse repo rate.

surplus fund with Central bank.

Alternatives:

# a) Both Assertion (A) and Reason (R) are true and Reason (R)
1s the correct explanation of Assertion (A).

_b) Both Assertion (A) and Reason (R) are true and Reason (R) is

| not the correct explanation of Assertion (A).

c) Assert;'un (A) is true but Reason (R) is false.
d) Assertion (A) is false but Reason (R) is true.

ﬁr / 2 { Read the following statements- Assertion (A) and Reason (R), carefully and 1

Reason: Reverse repo rate is the rate at which commercial banks park their
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: ;icci the following statements carcfully:
ment 1: Inter- bank deposits do not form part

gﬂt belong to public.

tat - ' : '

- cment 2; Saving deposits of post office are also I0C
measure of money supply.

In light of the given statements, choose the correct altern

following:

a) Statement 1 is true and Statement 2 is false.

b) Statement 1 is false and Statement 2 is true.

¢) Both Statements | and 2 arc truc.

d) Both Statements | and 2 are false.
Read the following statements- Assertion (A) and Reason (R

choose the correct altematives given below:

Assertion: Marginal propensity to consume
greater than income.

of money supply, as they do

Juded in

ative from the

), carefully and

cannot be greater than [.

Reason: Consumption cannot be

Altermitives:
ason (R) arc truc and Reason (R) is the correct

(a) Both Assertion (A) and Re
nation of Assertion (A).

(R) is not the correct

expla
(b)Both Assertion (A) and Reason (R) are true and Reason
explanation of Assertion (A). S - B ===
(c) Assertion (A) is true byt Reason (R) is false. e '
(d) Reason (R) is truc but Assertion (A) is false.
primary deficit s TB000 crore and interest payments I

In a government budget

are 35000 crorc. How much is the fiscal deficit?

.a) T3000 crore ¢) ¥ 5000 crore
b) 13000 crore d)Z 8000 crorc

the Balance of Trade
The import of merchan
f the world.

Suppose that (BOT) of a nation, cxhibits a surplus of X

15,000 crores. dise of the nation is half of the exports of
merchandise to the rest 0
The value of exports would be T CIOrES.

(Fill up the blank with correct alternative)
c) 24,000

a) 30,000
d) 35,000

b) 40,000
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,"’f _—T Read the following statements carefully:

| ; :
y g Statement 1: Expenditure of government on construction of flyover is a revenue
y expenditure.

Statement 2: Revenue expenditure is recurring in nature.,

In light of the given statements, choose the correct alternative from the
following:

a) Statement 1 is true and Statement 2 is false.
b) Statement 1 is false and Statement 2 is true.
c) Both Statements 1 and 2 are true.

| d) Both Statements 1 and 2 are false.

As per the Reserve Bank of India (RBI) press report, 1
"Net external commercial borrowings to India recorded an inflow of US$

0.4 billion in the second quarter (2022-23)"

The above transaction will be recorded in the account on side of
Balance of payments account of India.
(Choose the correct alternative to fill up the blanks)

~a) current, credit c) capital, credit
b) current, debit d) capital, debit

9 Read the following statements- Assertion (A) and Reason (R), carefully and 1
choose the correct alternatives given below:

Assertion: Money is a measuring rod which expresses the values of all the
goods and services.

Reason: Money is a standard of deferred payment.
Alternatives:

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct
explanation of Assertion (A). |

(b)Both Assertion (A) and Reason (R) are true and Reason (R) is not the correct
| explanation of Assertion (A).

(c) Assertion (A) is true but Reason (R) is falsc.

l (d) Reason (R) 1s true but Assertion (A) is false.

10

For a closed economy (with no foreign trade), which one of the following is 1
correct?

_a) GDP = GNP c) GDP > GNP
b) GDP < GNP d) GDP + GNP=(0
11 “The International Monetary Fund (IMF) has raised its GDP growth forecast for | 3

India for 2023-24 to 6.1 percent from 5.9 percent due to the blowout growth
number for January-March”. Source: moneycontrol.com

Does the given statement means that welfare of the people will also
increase?Comment with reason.
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1te savyj
IE - Hgs al-c w
nd to INCrease Output fmore than Ex ante Investments, producers

ACCGI‘deI
EtoKe :
“mployment Yhesian theory,

equilibrium occurs only at full

a)How
doeg Centry] bank v € given Statement with reason
inflation” Purchasesg securities frop »agent and advisor? | 3
Co

Or | - '00S 1n balance of 4

public consumption an Part ofits product o the

8 product
firm A buys = o

Find i) Value added by Firm A, B, ¢ no rawy Inﬂ'ter:fa[ ).

| .
ii) Total consumption Expenditure

b) State with valid reason, which of the {ollowing statemep; i true or f;
€ or fa]se:

hased by schoo] is ; Y
i) Sm rt board pure ‘ ool is included jp the estimatiop of Natio 2
R nal

== oo o o U
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. ) Gross valuc added at market price and Gross d —
r'/ :131':‘.:: are one and the same thing. K ross domestic Product at market
OR
From the following data calculate National Income by income method and
expenditure method:- 4
particulars : Tiner.
._______———__-_’_ ]
[ Private final consumptior expenditure 3000
A
7 Net capital formation 400
3 Change in stock : 50
3 Compensation of employees .ggnu
(4 Lo —
5 Rent - A =
6 Interest =30
7 Operating Surplus_ e 00
3 Net Indirect Taxes . 100
e T i urity schemes
9 Emplnycrs contribution 10 o the social s¢C ty 7
10 10 Net Exports 020
11 Net factor income from abroad r
1 consumption expenditure
12 Government ﬁn:_l ﬁ:::i u Pu:l 100
13 Consumption 0 capl = n f
- ~ d be treated it estimatl
.h]givmnnm explain how the fnlluwln_g uhuul T S = B
| national income of Indin: - ot _
fit earncd by Levis company in India _ _ f=
/:rfl?;:::res: received by Mr. Sham ofl his saving account 10 SBI bank
Section B- Indian Economic Development
lly and choose the correct alternative from

Read the following statements carefu

the following:-
Saternent 1:- Density of populatio

Pakistan.
Statement 2:- HDI ranking of India is bette

Alternatives.-

(a) Both the statements are truc.

(b) Both the statements are false.

(c) Statement [ is true ‘and Statement 2 is false.
(d) Statement 1 is false and statement 2 1s true.

18

r than China.

n of India is more than that of China and

Micro credii programmes play a vital role in ensuring an overall
development of the rural economy as they

(Choose the correct alternative (o fill up the blank)
i) provide financial support

age
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In light of the

_ given statements,
followin g:

choose the correct alternative from the

a) Statement 1 1s true a
b) Statement 1 is false and Statement 2 is trye.

¢) Both Statements I and 2 are trye.
d)Both Statements 1 and 2 are false.

nd Statement 2 js false.

21 Read the following statement -Assertion (A) and Reason (R). Choose one
of the correct alternatives given below:
/ Assertion (A):Acquiring information is a source of human capital formation.
Reason (R): People update themselves with the information of labour market
£ and available job opportunities . '
a) Both Assertion (A) and Reason (R) are true and Reason (R)
1s the correct explanation of Assertion (A).
b) Both Assertion (A) and Reason (R) are true and Reason (R) is
not the correct explanation of Assertion (A).
¢) Assertion (A) is true but Reason (R) is false.
d) Assertion (A) is false but Reason (R) is true.
22

Read the following statements carefully:
Statement 1: India and China are members of G-20 group.
Statement 2: G20 Presidency in 2023 is taken over by India.

In light of the given statements, choose th
following:

a)Statement | is true and Statement 2 is false.
b)Statement 1 is false and Statement 2 is true.
c¢)Both Statements | and 2 are frue.

€ correct aiternative from the

| d) Both Statements | and 2 are fa]se
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L committee was set u
/T::ﬁ; industries in India.
.

a) Karve

b) Tapas Majumdar

¢) Mahalanobjs

24
Indian Gq
AYOG Vernment hag Ieplaced planning “Ommission with NITT
Statement 2 Cha
II'ma
Sitaraman n of NITI AYOG is Finance Munister Mrs Nirmala
In I gh!: of the given Statements, choose the correct alternative from the
following
a) Statement 1 1S true and Statement 2 is false.
b) Statement 1 1S false and Statement 2 is trye.
¢) Both Statements 1 ang 2 are true,
d) Both Statements 1 ang 2 are false,
25 Read the following statements

given below:

Statement | — Subsidies do not add any burden on the financial health of a
nation.

Statement 2 — Complete removal of subsidies may violate the aim of equitable
distribution of income,

Alternatives:
a) Both the statements are true.
b) Both the statements are false.

c) Statement 1 is true and Statement 2 is false

d) Statement 2 is true and Statement 1 is false
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Read the following statements- Assertion (A) and Reason (R), carefully and [ ]
choose the correct altemnatives given below:
Assertion: China started Great leap forward campaign in 1958.
Reason: Its aim was to promote industrial sector of the cconomy:
Altemmatives: |
(2) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct
explanation of Assertion (A). * »
(b)Both Assertion (A) and Reason (R) are true and Reason (R) is not the corr
explanation of Assertion (A).
(c) Assertion (A) is trie but Reason (R) is falsc.
(d) Reason (R) is true but Assertion (A) is false. ] ]
27 From the set of events/systems given in column I and cnrrcfpnndmg rcl::'-:ml
fact given in column 11, about China, Choose the correct pair of statement:
COLUMNI COLUMN II
A. Great Leap i) Students E.Ili‘.i
' professionals were
i Sepees sent to work and
learn from the
country side.
B. Great prolctarian 1) People were
/ H Cultural Ift}cvniurian fﬂm“mﬂﬂfl to set up _ |
/ industries in their Ry g
__backyards
C. Economic reforms iif) 1988
in China _
D.) Commung system iv)  Cultivating land
collectively
Alternatives:-
a) A-(i}
b) B<ii)
c) CHii)
d) D-~(iv)

T

]
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technology mvolv.cd was, not  frec from nsk JUSH y fy the stajem tw;th vahd i
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How mllwa}/s mtroduced by BI‘IUShEI’S aifected the st(ufztura of the Indian
economy 11'1 two important ways‘? | o |

30

- ‘Educatlon Is considered to be impdrtant mput for thc develnpment of a

- _'natir.i Gwe arguments in su s s afel ent. |

i Explam tﬁe measures taken by Govem;hent to Impruve.ﬂgdculwml q@menng
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Read the followin g text carcﬁllly On the bams of the given text and camman I .

11: s

understanding, answer the followmg qucstwns

The impact of artificial intelligence on labour economics

Source: The Times of India Blo gs July 21,2023

«

Over the past few years, Artiﬁcial Intetlligence has emerged asa transfnrmgu“fvfe -
technt)IOgy ACross various mdustnes profoundly impacting the global

economy. Whlle AT has the potential to replace some occupations, it can also .

change current job positions and create new ones. The need for workers with

—I-—'—-'-—_-
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: ‘Mo j erations are
supcrior technical and problem-solving <kills rises as routine P
i e £8 THUE i isions, and
mechanized. Jobs requiring creativity, agility 1n making decis |
economists

interpersonal abilities are less susceptible to qutomation. Labour

Al will cause a change in the

ct, emotional intelligence, and

contend that rather than climinating jobs.

compasition of the workforce. Human conia
strategic thinking-intensive jobs will increase in an Al-driven economy.
However, this change cmphasizes the necessity of the workforce's ongoing

ploymenl market.
d to how Al affects

reskilling and upskilling to stay relevant in the cvolving em
Income incquality and job polarization arc also directly relate
labour economics. As the use of Al spreads, there is rising wWoITy that the

advantages could favour a small number of people or businesscs, widening

income gaps. High-skillcd individuals who know how to build, implement, and
skilled workers, on

manage Al systems might scc a risc in demand and pay. Low-

the other hand, can experience stagnant pay and fewer job possibilitics.
.skilled positions and increasing in

Decreasing employment prospects for middle
high- and low-skilled occupations result in “Job polarization”.

a) “Alwill cause a change in the composition of the workforce™ Defend or 2
refute the statement with reason.

b) What can be done to reduce the negative effects of Artificial intelligence
on job market? .

! Interpret the following data of sectoral share of GVA and GDP (%) in 2018-
of India, China and Pakistan. (%) in 2018-19 |4

' Il_Sectnr Contribution to GVA Distribution of workforce
India China | Pakistan | India China Pakistan
Agriculture | 16 7 24 43 26 41
} Industry 30 41 19 25 28 24
[ Services ' 54 52 57 32 46 35
Total 100 100 |
/ | 00 100 100 100
]gE_ e e e e et r—— .
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11) “Rapid €Xpansion of the banking system ha
and non farm output™ Justify the statement with valid arguments.

S a positive effect on rura| farm

Or

1).“Rural Economic development is essential for Indian Economic

fietv‘eh?pment".EXplain three areas which are challenging and need fresh
Inttiatives for development in rural India .

11)*“Recently Indians have drifted away from the traditional knowledge and
practices and caused large scale damage to environment”. Explain how,
adopting the traditional practices can be helptul 1n achieving the objective of
sustainable development?

|

|
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